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CRAN B KO O I( a) Express 1.56 as a rational number
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Marked by BMM

b . Bod 1.0151.015% 13
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correct to 3 decimal places

1.015(1.015% - 13

il. Find M given that 0= 2000(1.0]5)“ —M[ ] correct to 2

1.015~1
Term 1, 2006 decimal places.
’ <) If the price of a mobile phone is reduced by 20% to $480
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MW&W"”’*‘“WW i Find its price before the reduction.
g} ii. If the reduced price is later increased by 20%, find this final price.
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Question 2 [12 Marks] Start a new booklet Marked by JJA

Question 4 [12 Marks] Start 2 new booklet Marked by HRK
a) Fully factorise: a) i Sketch y = x*-6x~16 showing the x and y — intercepts and vertex.
. 3 2
L 207 +10a" +12a 2 ii. State the domain and range of y=x?~6x—-16.
i, —6x® +x435 N ~ )
2 b) I f(2)=10"+10" show that £ @x)=(f (x)) 2.
... ax—ay+bx-by ab®+a%b
b) Simplify: . { ) Y. CRRAT 3 g
4 ity o i Pind lim ——
Fta gt 4 9
o If f2-4 =a+bv2, find a and b 3 . x* . i
3+242 ii, Sketch y =~ w9 showing any intercepts and asymptotes.
X
1
e = 2 = OWx? 41 %
[ —4x° z_ iii. Isy= dd, ither?
d) Prove that: e 41 Y can be written as —w 3 '" sy Y2 49 0dc even ot netther,
x-9) 2% +1R - 9)
d) Shade the region bounded by y>4*—3, y<0 and x>0
Question 3 [12 Marks] rt a ne klet Marked by HRK
Question 5 [12 Marks} Start a new booklet Marked by HRK
a) Solve for x
3x42 . a) Given y=5x*~2x find & from first principles
i —22 3 dx
x~4
b) Differentiate |
i [x+l|=1-4x 2
i y=3x*(5x- 1)6. Factorise your answer
2x 2
i, 222 1250
V5 ii. y= 3545 Simplify your answer.
) 2x+1 Ry '
3
. . y=x
b) i Solve simultaneously: y=x*+6x 3 <) Find the equation, in general form, of the normal to the curve y =3x*~5 at the,
point (2,7).
ii. Represent these two cutves on a neat sketch showing clearly all points of 2

intersection.




\{[H %){Ti Uuw gofufhoxxg e
e e e 4 i
Qugshon T [pmm]) e) ) MV
. i } ’J'Ld’t Y
A) 0= L SLSLSG.. . > v
» {00n= I%'%%u- -3, ,
RN i) 4wty *
n=_ 155 7 ]
A9__ Y . |
Nz %Ay Y ) o/

b)) 29.063 V

. iD_m= gooof Lo\

Q29.063

e M= 3]

TN e0T 480

e 1007 = Fe00 |

.()/tqdnr\ajfoﬁce Fo0

_ i) N®oX 28570

c_i__) 3’4 |
e /ELD(\

o —

= -aq 4+ T -
- 1 :

- =~ /

—— = 3 _’_ég ‘/“,_

s A4

Queshon 2 (Jda)
200+ 1Oa®+ 2o

, 2a(a*+5a + 6 ) 2

= 2a @+3 Na+2) Vv

) —etaoss
s = (brwa-35) >
- «(51\»1)(17&&”) v/

@.mp— Ay +br-by. + ob® ok
17‘_31 7!31_(33

= alx-y) #b{r-9y) ¥ Geryg)at- gl

(”Vﬁ)(ﬁ‘v& VD

= (I AY)  x
Yot y)

ab(b+ta)

(Y A2 =Ky +yt)
o (bfa)

= L—*—g I-g’l z

9‘_*__.._.__1 - l(n—ol)m
a \j at o+ |

Q)«*Gi)q

INERATOR . (Moke o common denomirouior

| - 2(w-a )bt x (14«775;)

QT+

== 4 (nma)(w* 1)
2Tt

3u(1)

= 1= 4521 ~9n'-4)
AN+

1 Y e M 4 ™ 43

ANEET

= 37 +5by\7’ Y ~"1'n'5>

2] W

wifn FLrdnmingtor acuy !

ML e
24y (-2)

+

e =G94 2 Y 137

&’%«w*@«-@*

|
() -

X 3.2{%
TN ER L

=522 74482
-8
=Nz -{b

az -l

b= 1\ 7




2@

. B2 & @ >,,Z(m-—¢b 7(:o/g,eo
s s A
()(4— 2)((. —) ‘2@-@7“ 14 '—”\‘s,m)

(¢ =4) L3x+2 - zéc«qﬂ >0
(- +0> 30

| 5 4z
*1 :f ) ' 84 L sbeny —zéu—hs (52

A..7D -—z.x.) /
o i}é-‘-loxk-ré*h 7?fx ;L\J%é

L=, A>y

= bl
i x+l = 1—4,')(, . S K(/ox:\ssk_zw
5’:2 ;g = lox —2 '/
@tm[ o+t | 1= X

23t

) 'F@x) 10 +(0_u Ve

7/

[

b)~ - 2 > ¢
i f :} =  BoC éé_x——és—-l-(s”x—() GZ/
_.beo Ve (‘F@c)) &= (D 1’/0) L g = 9ox (5> {>’ 6 o (- )
~( ) TLex = 10”0 .,-2 -2
R At BN s 2

f}

« 61(5‘1) Cs*x—;—:rxj
Gl otoeaiit o . ) %39/ ' Ol)

a—_}fgﬁs y 5(7-2—(—[)3—-@5'-5‘\2__ /
. C . DU\ 2 2
bl £ 513 %0 O b X G
i) een e | =
(i) g™ 77 o =T @+
Ex -ty = 3— 3 / - _[__':o - C) j(: L
X = -‘,Z—L . / oY X=2 Mr= 12 .- M s /
;H) EVEN , L P
b>|- DL = Dbfex 3"3( ‘;V:,-L[_)((-)_(—S
:)c(pc"-——x_.,4,> =0 3 -7 =130 Z\ v
7(,(7(-—3)é+2>=o . (7—3 — gl = —X 4+ 2 /
2 T O '3J"? /

7(-4—!').5 ——glg-::o//




